
СЛОЖЕНИЕ И ВЫЧИТАНИЕ 

В ПРЕДЕЛАХ 10

1 – 5        

4 – 1 =                 2 + 2 =                 4 – 2 =    
4 – 3 =                 1 + 3 =                 3 + 2 =      
1 + 4 =                 2 + 3 =                 4 – 2 =   
2 + 2 =                 4 – 2 =                 3 + 1 =     
4 – 2 =                 1 + 4 =                 4 – 2 =    
2 + 2 =                 5 – 4 =                 1 + 3 =    
1 + 3 =                 4 – 3 =                 2 + 2 =
4 – 3 =                 1 + 3 =                 4 – 3 =     
2 + 2 =                 4 – 2 =                 3 + 2 =    
4 – 2 =                 1 + 3 =                 2 + 2 =    
4 + 1 =                 2 + 3 =                 4 – 3 =     
3 + 2 =                 4 – 3 =                 4 – 3 =
4 – 2 =                 2 + 2 =                 5 – 3 =    
1 + 3 =                 4 – 3 =                 1 + 3 =     
2 + 2 =                 4 – 2 =                 4 – 4 =     
3 + 2 =                 4 – 3 =                 3 + 2 =     
4 – 2 =                 4 – 2 =                 2 + 2 =
3 + 1 =                 4 – 2 =                 2 + 3 =   
4 – 2 =                 4 – 4 =                 2 + 2 =    
3 + 2 =                 1 + 3 =                 4 – 3 =      
5 – 3 =                 5 – 2 =                 1 + 4 =    
5 – 4 =                 2 + 3 =                 5 – 3 =     
3 + 2 =                 5 – 3 =                 3 + 2 =     
5 – 2 =                 5 – 4 =                 5 – 4 =
2 + 3 =                 1 + 4 =                 5 – 2 =     
5 – 3 =                 5 – 4 =                 5 – 5 =      
1 + 4 =                 5 – 2 =                 5 – 4 =     
3 + 2 =                 4 + 1 =                 5 – 3 =      
5 – 2 =                 5 – 3 =                 2 + 3 =   
5 – 4 =                 3 + 2 =                 5 – 2 =    

5 – 3 =                 1 + 4 =                 5 – 3 =      
5 – 4  =                2 + 3 =                 5 – 2 =   
2 + 3  =                5 – 4 =                 3 + 2 =     
5 – 2 =                 2 + 3 =                 5 – 3 =    
3 + 2 =                 5 – 2 =                 1 + 4 =    
1 + 4 =                 5 – 4 =                 2 + 3 =
5 – 3 =                 1 + 4 =                 5 – 3 =     
2 + 3 =                 5 – 2 =                 3 + 2 =    
5 – 4 =                 2 + 3 =                 2 + 3 =     
2 + 3 =                 5 – 2 =                 5 – 4 =    
1 + 4 =                 3 + 2 =                 5 – 3 =      
5 – 4 =                 2 + 3 =                 1 + 3 =    
5 – 3 =                 1 + 4 =                 5 – 2 =     
3 + 2 =                 5 – 2 =                 5 – 4 =     
1 + 4 =                 5 – 3 =                 2 + 3 =       
5 – 2 =                 3 + 2 =                 5 – 3 =     
3 + 2 =                 5 – 4 =                 5 – 4 =     
1 + 4 =                 2 + 3 =                 5 – 2 =     
2 + 2 =                 4 – 3 =                 3 + 2 =    
5 – 4 =                 3 + 2 =                 5 – 3 =    
5 – 3 =                 5 – 2 =                 2 + 2 =     
4 – 2 =                 2 + 3 =                 3 + 2 =    
2 + 2 =                 2 – 1 =                 5 – 2 =     
2 + 3 =                 4 – 2 =                 2 + 3 =    
3 + 2 =                 5 – 4 =                 1 + 4 =    
5 – 2 =                 1 + 4 =                 3 – 2 =    
3 + 2 =                 5 – 3 =                 1 + 3 =    
1 + 3 =                 5 – 2 =                 4 – 3 =     
2 + 3 =                 2 + 2 =                 4 – 2 =     
4 – 3 =                 3 + 2 =                 2 + 3 =    

. При  вычислении  вспоминаю  состав  числа.

3 + 2       3  и  2  –  это  5,  значит,  3 + 2 = 5.

5 – 4       5  состоит  из  4  и  1.  Если  из  5  вычесть  4,  то  останется  1.  

Значит,  5 – 4 = 1.

1

2 – это  1  и  1            

3 – это  1  и  2             3 – это  2  и  1

4 – это  1  и  3             4 – это  2  и  2             4 – это  3  и  1

5 – это  1  и  4             5 – это  2  и  3             5 – это  3  и  2             5 – это  4  и  1



2

1 – 6        

6 – это  1  и  5                                  6 – это  2  и  4                                   6 – это  3  и  3   

6 – это  4  и  2                                  6 – это  5  и  1
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6 – 1 =                 4 + 2 =                 6 – 2 =    
6 – 3 =                 1 + 5 =                 5 – 4 =      
6 – 4  =                 3 + 3 =                6 – 5 =   
2 + 4 =                 6 – 4 =                 3 + 3 =     
6 – 2 =                 3 + 3 =                 6 – 3 =    
3 + 3 =                 6 – 5 =                 1 + 5 =    
1 + 5 =                 6 – 4 =                 2 + 4 =
6 – 5 =                 1 + 5 =                 6 – 3 =     
3 + 3 =                 6 – 2 =                 4 + 2 =    
6 – 4 =                 2 + 4 =                 3 + 3 =     
6 – 2 =                 4 + 2 =                 6 – 2 =    
6 – 3 =                 1 + 5 =                 2 + 4 =      
6 – 4 =                 3 + 3 =                 6 – 5 =   
2 + 4 =                 6 – 4 =                 3 + 3 =     
6 – 2 =                 3 + 3 =                 6 – 3 =    
3 + 3 =                 6 – 2 =                 5 – 4 =    
1 + 5 =                 6 – 4 =                 2 + 4 =
6 – 5 =                 1 + 5 =                 6 – 3 =     
3 + 3 =                 6 – 2 =                 4 + 2 =    
6 – 4 =                 2 + 4 =                 3 + 3 =     
6 – 3 =                 5 – 2 =                 2 + 4 =   
2 + 4 =                 1 + 5 =                 2 + 3 =     
3 + 2 =                 4 – 3 =                 6 + 3 =     
5 – 4 =                 3 + 3 =                 6 – 2 =    
3 – 2 =                 4 + 2 =                 5 – 4 =    
5 + 1 =                 3 – 2 =                 3 + 5 =    
1 + 4 =                 3 + 3 =                 1 + 5 =     
2 + 4 =                 2 – 2 =                 5 – 2 =     
2 + 3 =                 6 – 5 =                 2 + 4 =     
3 + 3 =                 6 – 3 =                 3 + 3 =     
4 – 3 =                 2 + 2 =                 3 – 2 =      
1 + 2 =                 5 + 1 =                 2 + 4 =       
2 + 4 =                 6 – 2 =                 2 + 2 =    
5 – 4 =                 1 + 5 =                 3 – 2 =
6 – 3 =                 3 + 2 =                 1 + 4 =    

6 – 3 =                 3 + 2 =                 6 – 2 =     
5 – 3 =                 3 – 2 =                 2 + 2 =     
5 – 2 =                 4 + 2 =                 6 – 3 =    
2 + 4 =                 5 – 3 =                 1 + 5 =    
3 + 3 =                 6 – 5 =                 6 – 4 =     
4 + 2 =                 2 + 2 =                 4 + 2 =    
6 – 2 =                 3 + 3 =                 3 – 2 =     
3 + 3 =                 4 – 3 =                 6 – 5 =
6 – 5 =                 4 + 2 =                 6 – 3 =     
6 – 4 =                 1 + 2 =                 6 – 4 =
4 + 2 =                 1 + 5 =                 2 – 2 =
6 – 3 =                 3 + 3 =                 5 + 1 =     
1 + 5 =                 3 + 2 =                 3 – 2 =    
1 + 4 =                 6 – 4 =                 2 + 2 =     
6 – 2 =                 3 + 2 =                 3 – 1 =     
6 – 5 =                 4 + 2 =                 3 – 2 =    
3 + 2 =                 6 – 3 =                 1 + 3 =    
5 – 2 =                 1 + 4 =                 6 – 5 =    
2 + 4 =                 2 + 2 =                 4 – 3 =     
1 + 5 =                 5 – 4 =                 1 + 3 =    
3 + 3 =                 6 – 2 =                 4 + 2 =    
6 – 5 =                 4 + 2 =                 3 – 2 =    
3 + 2 =                 6 – 3 =                 1 + 3 =    
1 + 5 =                 5 – 3 =                 4 – 3 =     
6 – 2 =                 3 + 3 =                 6 – 5 =
5 – 2 =                 4 + 2 =                 6 – 3 =    
6 – 3 =                 5 – 3 =                 1 + 5 =    
3 + 3 =                 6 – 4 =                 6 – 4 =     
2 + 4 =                 2 + 4 =                 5 – 2 =     
2 + 3 =                 6 – 5 =                 2 + 4 =     
1 + 5 =                 6 – 2 =                 6 – 4 =     
3 + 3 =                 6 – 3 =                 3 + 3 =     
3 + 2 =                 5 – 4 =                 4 + 2 =    
4 – 3 =                 2 + 3 =                 5 – 4 =
6 – 4 =                 1 + 4 =                 6 – 2 =    


